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s PNEEE o = - = EHiE
IE a 48218 [ 58128 [ 6A108 | 7H78 | 8E118 | 9868 | 10848 [ 11A58 [ 12838 [ 1A128 [ 2A168 | 3H2H BRME m/n FifE |C & &R )’%“B#Eﬁﬁ?i;’i
PH 76 7.6 75 75 73 7.3 7.6 75 7.1 7.9 738 78 58~86] 0% 76 JC 73 ~ 79 76
4 [ BOD 35 47 7.1 27 6.8 33 13.2 8.1 45 7.0 1.1 11.2 25 0% 6.7 | 27 T~ {32 ) 6.7
SS 12 838 13.6 52 6.8 7.0 232 48 6.0 80 56 6.8 50 0% 86 | 48 ~ 9232 ) 8.6
& [ DO ( ~ )
KRR 0 18 0 140 180 170 190 140 0 0 0 0 3000 0% 70 [( 0 ~ 190 ) 70
R [ nadvimimE <1.0 <10 <1.0 <1.0 <1.0 <1.0 <10 <1.0 <1.0 <1.0 <1.0 <1.0 5 0% <0 O <10 T~ <10 <10
Jx/—ILE 0.01 <0.005 i 0% 0.005 |( <0005 ~ 001 )| 0008
B[ i <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 3 0% <004 |C <004 ~ <004 HI <0.04
Eh 0,01 0.01 0.02 <0.01 <0.01 0.02 0.01 <0.01 0.02 0.03 0.03 0.02 2 0% 001 ¢ <001 "~ 003 | 002
H | AR 0.13 0.22 <0.06 0.07 0.14 0.09 0.06 0.14 0.1 0.74 0.08 0.18 3 0% 016 IC <006 ~ 074 | 017
SRR A 0.05 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.05 0.02 0.03 0.04 3 0% <002 |( <002 ~ 005 )| 003
B | #O4 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 £0.04 <0.04 <0.04 <0.04 2 0% <004 J( <0.04 ~ <004 ] <0.04
Zv% <0.1 <0.1 8 0% <01 JC <01 ~ <01 O <o
AR L <0.01 <0.01 0.1 0% <001 € <001 ~ <001 )| <0.01
STV <0.1 <0.1 i 0% <01 JC <01 T~ <01 <01
HHE)Y <0.1 <0.1 1 0% <01 JC <01 T~ <01 ) <0.1
7 [ & <0.01 <0.01 0.1 0% <0.01 JC <001 ~ <001 )| <o0.01
N[ Z1=PN <0.04 <0.04 05 0% <004 |C <004 "~ <004 I <0.04
it <0.01 <0.01 0.1 0% <001 € <001 "~ <001 )| <001
7KER <0.0005 <0,0005 0,005 0% | <0.0005 [( <0.0005 ~ <0.0005 )| <0.0005
£ [ ZILXILKER <0.0005 <0.0005 iH ] 0% ] <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
PCB <0.0005 <0,0005 0.003 0% | <0.0005 [( <0.0005 ~ <0.0005 )| <0.0005
M)5OnIFLY <0.0005 <0.0005 0.3 0% ] <0.0005 [( <0.0005 ~ <0.0005 )| <0.0005
TFSHRAIFLY <0.0005 <0,0005 0.1 0% | <0.0005 [( <0.0005 ~ <0.0005 )| <0.0005
LR IPVIS=EE D <0.001 <0.001 0.2 0% <0.002 |C "<0.002 ~ <0002 )| <0.002
mig{b R <0.0002 <0,0002 0.02 0% | <0.0002 J( <0.0002 ~ <0.0002 )| <0.0002
1, 2—%)0R14Y <0.0004 <0.0004 0.04 0% ] <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1=%"9AAIFLY <0.001 <0.001 1 0% <0.001 [( <0.001 ~ <0.001 )l <0.001
g [ Y2A—1, 2—/00IFLY <0.001 <0.001 0.4 0% <0.001 I¢ "<0.001 ~ <0.001 )| <0.001
1, 1, 1—k)yaAISy <0.0005 <0,0005 3 0% | <0.0005 [( <0.0005 ~ <0.0005 )| <0.0005
1, 1, 2—)y001sy <0.0006 <0.0006 0.06 0% | <0.0006 [( <0.0006 ~ <0.0006 )| <0.0006
1, 3—97/AA7°0A"Y <0.0002 <0,0002 0.02 0% | <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
FI5 L <0.0006 <0.0006 0.06 0% <0.001 I¢ "<0.001 "~ <0.001 )| <0.001
PRSP <0.001 <0.001 0.03 0% <0.001 IC <0.001 ~ <0.001 )| <0.001
FARAILT <0.001 <0.001 0.2 0% <0.001 I¢ "<0.001 "~ <0.001 )| <0.001
vy <0.001 <0.001 0.1 0% <0.001 IC <0.001 ~ <0.001 )| <0.001
1F5% 0.06 0.04 10 0% 005 C 004 ~ 006 )| 005
FUT=7 PUTIY L EHRRHEAD 33 2.6 100 0% 295 IC 26 ~ 330 )| 2095
L <0.01 <0.01 0.1 0% <001 € <001 "~ <001 )| <001
1, 4= F Y <0.005 <0.005 0.5 0% <0.005 J( <0.005 ~ <0.005 )| <0.005
2ER 45 44 48 6.5 13.0 85 93 12.0 49 14.0 19.0 20.0 101 (44 ~ 20 11041
EPS 0.1 0.06 0.07 0.05 0.14 0.09 0.17 0.19 0.18 0.15 0.19 0.15 013 IC 005 ~ 019 )| 013
EAA  REEEE <0.05 0.06 0.05 <0.05 0.07 0.07 0.05 0.06 0.10 0.07 0.09 0.08 006 JC <005 ~ 01 ] 0.07




